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Enk P | pEsE | B | BB | EERE | 2 | EERDTE R =
111047 103 05 2 =5— K JFE 52 2 DA SIREZ =4
111051 103 09 2 =5— K JFE 52 2 DA SIREZ =4
111062 104 01 2 =5— K JFE 52 2 DA S IREZ =4
111065 104 04 2 5—F JFE 52 2 DA ZIEER =4
111089 105 09 2 5—F JFE 52 2 DA ZIRER =4
111132 107 15 2 5—F JFE 52 2 DA ZIRER =4
111144 108 09 2 5—F JFE 52 2 DA ZIRER =4
111150 108 15 2 5—F JFE 52 2 DA ZIRER =4
111152 108 17 2 5—F JFE 52 2 DA ZIEER =4
111259 108 19 2 5—F JFE 52 2 DA ZIREF =4
111164 109 11 2 5—F JFE 52 2 DA ZIRER =4
111166 109 13 2 5—F JFE 52 2 DA ZIRER =4
111172 110 01 2 5—F JFE 52 2 DA ZIRER =4
111176 110 05 2 5—F JE 52 2 2A ZIREF E 4
111181 110 10 2 5—F JE 52 2 2A ZIIREH E A
111183 110 12 2 5—F JE 52 2 2A ZIIREH EA
111195 111 06 2 5—F JE 52 2 2A ZIIREH EA
111198 111 10 2 5—F JE 52 2 2A ZIIREH EA
111200 111 12 2 5—F JE 52 2 2A ZIIREH EA
111204 111 16 2 5—F JE 52 2 2A ZIIREH EA
111205 111 17 2 5—F JE 52 2 2A ZIIREH EA
111206 111 18 2 5—F JE 52 2 2A ZIIREH EA
191016 113 16 2 5—F JE 52 2 2A ZIIREH EA
111227 114 03 2 5—F JE 52 2 2A ZIIREE E A
111231 114 07 2 5—F JE 52 2 2A ZIREE =4
011242 204 19 2 5—F JE 52 2 2A ZIREE =4
011165 206 11 2 5—F JiE 52 2 2A ZIREE =4
011227 207 15 2 5—F JiE 52 2 2A ZIREE =4
911289 305 01 2 5—F JE 52 2 2A ZIREE =4
911303 315 09 2 5—F JE 52 2 2A ZIREE =4
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